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Cell Transport

T

Across

2. This occurs when water
passes through the
membrane.
5. In these solutions water
and solutes are balanced.
8. These help substances
across the cell membrane.
10. The particles move in
from higher to
lower concentrations.
11. This type of transport
requires energy.

12. In these mixtures you
can identify the parts.

13. Proteins in
help substances cross the
plasma membrane.

14. What solution causes
cells to swell?

Down

1. This type of transport
doesn't require energy.

3. These take energy from
sunlight and redox reactions.

4. This is the amount of
concentration in passive
transport.

6. In these solutions you
cannot identify the parts.

7. When the substances in
the cell are balanced this
occurs.

9. There is a higher solute
concentration outside of the
cell in these solutions.
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